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LABCab 85
Name und Spektralbereich
Rm 561_770 Ym 520_770
Gm 475_573 Cm 380_561
Bm 380_520 Mm 573_475
Ostwald-Optimalfarben (o), YW=88,6
6 von maximalem (m) CAB für D65
in Buntwertdiagramm  (A, B)
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40BXYZw=84.1998 , 88.59 , 96.46 
A = (a − an) Y
B = (b − bn) Y
a = a2 [x/y]
b = b2 [z/y]
a2 = 1
b2 = −0,4
n = D65 D65
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LABCab 85
Name und Spektralbereich
Rm 561_770 Ym 520_770
Gm 475_573 Cm 380_561
Bm 380_520 Mm 573_475
Ostwald-Optimalfarben (o), YW=88,6
6 von maximalem (m) CAB für D65
in Buntwertdiagramm  (A, B)
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40BXYZw=84.1998 , 88.59 , 96.46 
A = (a − an) Y
B = (b − bn) Y
a = a2 [x/y]
b = b2 [z/y]
a2 = 1
b2 = −0,4
n = D65 D65
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LABCab 85
Name und Spektralbereich
Rm 561_770 Ym 520_770
Gm 475_573 Cm 380_561
Bm 380_520 Mm 573_475
Ostwald-Optimalfarben (o), YW=88,6
6 von maximalem (m) CAB für D65
in Buntwertdiagramm  (A, B)
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40BXYZw=84.1998 , 88.59 , 96.46 
A = (a − an) Y
B = (b − bn) Y
a = a2 [x/y]
b = b2 [z/y]
a2 = 1
b2 = −0,4
n = D65 D65
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LABCab 85
Name und Spektralbereich
Rm 561_770 Ym 520_770
Gm 475_573 Cm 380_561
Bm 380_520 Mm 573_475
Ostwald-Optimalfarben (o), YW=88,6
6 von maximalem (m) CAB für D65
in Buntwertdiagramm  (A, B)

−40      40

A

−40

 

 

 

40BXYZw=84.1998 , 88.59 , 96.46 
A = (a − an) Y
B = (b − bn) Y
a = a2 [x/y]
b = b2 [z/y]
a2 = 1
b2 = −0,4
n = D65 D65
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